N & 0l & AF S & M M

AN A X =1t
M Toligle otE st T A2
el Mol AtE i (&)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
or& X ==t 13,370,831 9,218,929 4,151,902
Al 25,000
- 13,345,831
Mol R= etEst T Al2el 1,465,129 1,823,680 358,551
Al 25,000
- 1,440,129
THGH AH& CHEI 113,896 98,781 15,115
Saofl AU HAH = 113,896 98,781 15,115
201 Let24d] 92,896 87,781 5,115
01 At 22l 46,148 46,148 0
Na=Yusis S oM 7,000& %1402 980
N=LEBS 2N 4,740
2)=oioleg A 200& =14,0000H 2,800
2)0H 1,800& 1004 180
2)OHLY 2+ &t 880,000& »2H 1,760
NE+28 g2 M 728
2)EE so 8,200 »8m" 54 328
2)EE dHX 200& =2, 0000H 400
1= X 204 13,340
2)P.POICH(Z) 350&20,000& 7,000
2)P.POLCH () 2203 x20,000% 4,400
2)PEHI Y 34,0002 x50 1,700
2)P.P2 1,800& »100E} cH 180
)M gs 1,200 504 60
N=LAEE X2 2,670
2) & 5,700& 100K 570
2)=24ol 10,000& = 1004 1,000
2)3¢ 4,000 1004 400
2)=HS (B2l ZE) 8,000& *50H 400
)M S S (e ZE) 6,000& 504 300
NExdl =8 SHA =2 200,000 2 42 1,600
NYEILGEBLANE 2HAY
70,0003 x3H «53| 1,050
N=a=gae Isyl 13,000
2)&otol Al 29 10,000& 2504 2,500
2)DEA 29 10,000& 250 2,500
2l 29 50,000& =404t Xt 2,000
2) &I ALE 3} 12,000 150 1,800
2) LS &G 12,000& »150& 1,800
)8 2-et3 g 200& *12,0002 &l 2,400
12234l ol 8,040
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A oA X 4=t
H: THollgle
=l THAH

& CHYI (&)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
2)Z 3 (15 8AIZHIIE)
720,000& *3CH *23] 4,320
)8 ZEZ (13 8AIUIIE)
620, 0003 *3CH +23] 3,720
02 =224l 46,748 41,633 5,115
NSAS2BALAE S8Rz 1,250,0009 «128 15,000
NEME 23 1,100, 000& * 13| 1,100
NsA2eldl (8FHl,+clb-32)
3,000,000 = 1CH 3,000
N2+l BE82 320,000& *43| 1,280
NeEESSAEH S22l
50,0003 3000 2«68 9,000
NI X2l 30,0002 »50CH 1,500
NI E AN AL SURS(67H2)
1,020,000& =128 12,240
NEIILB(CCTV 2 33 L) 2,668
222 9102 *3kw*33 I A+ 12& * 1.1 1,190
2)&EE 23 93.3&*1,200kwh* 128 1. 1 1,478
Not=Z2 =2 gy 22
40,0003 24 x12& 960
203 R =&t 1,000 1,000 0
03 AIMFXH R =AY 1,000 1,000 0
N2es & U239 1,000, 000& 1,000
302 OI=LTHOH E & = 20,000 10,000 10,000
02 HIAQITHOH A =S FESELS 20,000 10,000 10,000
NE=TIHI? HAXE2 X2
2,000,000 102t 7 20,000
NEEZE 2E 2 s 501,771 105,278 396,493
sy 24 2 sz 118,471 105,278 13,193
201 LB-2d| 80,871 81,054 A 183
02 23224l 80,871 81,054 A 183
NAEI|ctE e Wz 8,419
2)EES BEZA(MY) 135, 100& 128 1. 1 1,784
2)8dsS EZE(LY) 606,900 x6& x1. 1 4,006
28 MEX (1Y) 398,200& x6& *1.1 2,629
NetEichag(SALSHIE) 1,949
2123
(167,500 +750kw*2CH 1,069 )*1. 1 1,949
NASEZE S =LAES MEAH Z3H
232,210 64 1,394
NOIEXN BE = 150, 0002 = 1CH 150
1)0I&Xt =2/l 200,000 = 1CH 200
N=ES2HEZ 2yl 900,000 »11CH 9,900
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A IS
M Molil= A&st T Al2e
Sel: WEHIY 29 ¥ R CERED
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il Bl DE2
Dyl &EEI| RFRH| 11,2653 x752| B x20H 190
NEHIY L JHAE 03 46,942
)MAESNAA(SEHSEHIE) 21,026
= 7,2203 *354kwx6 & *1. 1 16,869
NHHFERB 114.5& x5,500kwh*6& 1. 1 4,157
2MEESDNLANESSSHEN) 4,630
e 7,2203 *90kwx6 & * 1. 1 4,289
RRSEER= Soi=/ 114 .53 «450kwh*6& x 1.1 341
QMEEMNL(ESTSEHIE 2 2Ha) 8,014
ez 5,550 *105kwx12& *1.1 7,693
RIRSEER=SoR= 813 «300kwx12& x1.1 321
2)LEBLHY(SESSEZE 2 5)i) 13,272
= 6, 1603 «86kwx 12 *1. 1 6,993
NHBFERB 105.7& x4 ,500kw* 128 1. 1 6,279
NESELI(NFNEZE o 20HA)
5703 »40E 301 A 63 411
N+ ELB(MBANEHZE 2 2IHA)
5503 x40E 301 A 63 396
NRUABEBHI ABE (S5 HFK)
80,0003 10 2128 960
NEZE SMeI(E5x=1 2401)
80,0003 10 2128 960
NEZE sX2el 3,000,000 =34 2~ 9,000
203 R =X | 600 600 0
03 A=A H 2 =AY 600 600 0
NUSEHZE HRFX 600,000& 600
401 Al HIZ 201 I 37,000 23,624 13,376
01 A& HI 37,000 23,624 13,376
NASEZE - StIMANEERXNES
15,000, 000& 14! 15,000
nNUsE=Ey LA (S8, 585) € WA
Hs®ilsEs)8Y 22,000,000 =104 2 22,000
SESHENUSHIZ LS 24 383,300 0 383,300
401 Al HI K 201 I 383,300 0 383,300
01 A& HI 383,300 0 383,300
NEESHNINEBIEY AMEE B
383,300,000 =14 383,300
ot S AlEES =22 849,462 1,619,621 AT70,159
Al 25,000
- 824,462
StEAEZ2 FHl 788,604 798,941 A~ 10,337
201 et 23,324 22,541 783
02 232gHl 23,324 22,541 783
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S R F SN
B Toligle &S T Al22
S9l: 5lE S AlE2 R (29 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
N2a322 20,424
Q) NSAIILE HIRS
70,000& * 10 A~ x 128 840
Q)24 HIIR2 150, 000& *2H A~ x5& 1,500
Q)22 A2 200,000 *20 A~ x5& 2,000
2)Jts 82 A 60,0003 * 1 A x12& 720
2)BE1W XY MEH| 70,000 *3H A~ x12& 2,520
)84l A2 100, 000& =2l A~ +x6& 1,200
)X HILB 10,000 200 A~ «12& 240
2)2E=HX ALETE2=2 100,000 x201 A6 1,200
)RS FILR2(L0H) 10,204
N3
6,290& x0.05kw*384S*12& 1. 1 1,595
OREET=E
85.9& *0.05kw*384S * 13 Al 2+ *3652 *1. 1 8,609
1B 24 S22/ 700,000& *23| 1,400
NOSXEMERH 282 500,000& *13] 500
NEXSE AL E IS
500,000& *23| 1,000
203 AP E=F | 1,500 1,500 0
03 A=A R =AH| 1,500 1,500 0
NoIEAIEE SA22 24 1,500,000& 1,500
308 X SHAMSOIA 120,000 110,000 10,000
07 IXHAH2AESZ 120,000 110,000 10,000
1201 FAes 222 120,000,000 120,000
401 Al HIL 201 643,780 659, 000 N 15,220
01 Al &bl 640,000 650,000 A 10,000
1ot AIE S HHISAM 600,000,000& * 14 600,000
Dol LXE st otEEYZ XS] N
AL 1,250, 000& *32JH 2~ 40,000
03 Al& 201l 3,780 9,000 N5,220
NEgx+28 S 600,000,000& *0.63% 3,780
NotE=ZSAIE L QIYQAAE A2 (EX) 60,858 20,680 40,178
Al 25,000
- 35,858
201 LEt2 A Y| 45,258 20,080 25,178
Al 17,500
- 27,758
02 33249l 45,258 20,080 25,178
NHIAS AL HIIR2 3,139
212223 6, 1602 xbkw*6IH A+ 128 x1 .1 2,440
)32 90 *98kw*6 Il A *12& *1. 1 699
NHIAS=AIE S22 1,500,000& 64 4~ 9,000
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S R F SN
A GIDIBHAIE S &5 Y AU
ol BHARO BHl L FaEAY K& £ (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
2ot = 5803 550 «6& *1. 1 2,106
2)HZHI(ZAIDJEA) 910& 240 m x9& 1,966
2)RHHIAIAE AlES 90,000& x12& 1,080
NAEXNE(E) KA 15,592
)88 2 800, 000& *4H 3,200
2)KH S XHA 130,000 =4 CH 520
2)2& AbHI 70,000 =4CH 280
2)H2HI(Z L) 1,360 1502 Ef x4 L = 12& 9,792
2)ARE L B 200,000& *43| 800
2)FIMNNE 2= 250,000& 43| 1,000
12 XZAFE CCTV £=2lH] 800, 0003 =304 2,400
203 2R E= | 2,080 2,080 0
03 Al F=X AR =AH| 2,080 2,080 0
1)otEAIE 2 HH gL 23 1,000,000& 1,000
1ot Al 22| 2tE3IHl 30,000 18H 23] 1,080
206 T2 HI 89,000 88,000 1,000
01 & bl 89,000 88,000 1,000
1)ot=AlEE |22 74,930
2)AEME £ U LA
265,000& *3L *x12& 9,540
2) S0l =2 2 B8HE(1,000mm)
75,000& *10L+12& 9,000
2) 280l =2 ¥ BHE (500mm)
42,000& *10L+12& 5,040
2) 280 2FF g Xl DI 65,000& *500H4 32,500
2)2eH 42,000 =70 m’ 2,940
2)NHE 6,000& x170CH 1,020
2)E20lE 13,0003 *400 £ 5,200
2)0LAZE K 200,000 *1&& 200
2)0| &= 2 (D=300mm) 41,0003 *120m* 1 4] 4,920
)L R (Y S 58) 1,520,000& * 14 1,520
2)H L H I 2 X2l 61,000& x50 m’ 3,050
DAE YOI (RO EHO SH)EH20H 5,820
2)AE Y O0IE S22 (500mm) 51,000& *20H 1,020
2)AEYO0IE =2 (1,000mm)
96,000& *50H 4,800
1N2AS 9S20] 2 30H(1,000mm)
165,000& *50 4 8,250
401 Al HIL 20| 1,505,400 1,505,400 0
01 A& bl 1,500,000 1,500,000 0
1)ol2=AIE S B4 ZAl 1,500,000,000& *14] 1,500,000
03 AlE 201l 5,400 5,400 0
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AN A X =1t
Bu: stadluAlMo 25 Y By
ol BHARO BHl L FaEAY K& £ (S &2)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
N3 A2 AIZ2HEl  1,500,000,000& 0. 36% 5,400
ot =4 1,030,240 846,786 183,454
201 L2l 23,040 40,846 A 17,806
02 =224l 23,040 40,846 A 17,806
NELIN(ALE 7 & =2)
970,000& x12Z& *13] 11,640
NEdll BEs 950,000& = 1204 11,400
203 ¥ S =&l 900 900 0
03 Al =AY R =&Y 900 900 0
Ntz 8 2443l 900,000 900
401 Al&HI & 28I 1,006,300 805,040 201,260
01 A& HI 1,000,000 800,000 200,000
Dot &4 ZA 1,000,000, 000 14! 1,000,000
03 A& =2 THHI 6,300 5,040 1,260
N3 A2 AIZ 2l 1,000,000,000& *0.63% 6,300
2 ot=HE FLHBEY 50,000 0 50,000
401 AIEHIZ 28I 50,000 0 50,000
01 A& HI 50,000 0 50,000
Not=Hg JUFAEA 50,000,000 » 14l 50,000
=g ot=W=E ZHISA 503,600 503,600 0
401 Al& I & 28I 503,600 503,600 0
01 A& HI 500,000 500,000 0
1)ot=ME HUIZ A 500,000,000 =14l 500,000
03 Al S THHI 3,600 3,600 0
1NSAF2E Al =20 500,000,000& *0.72% 3,600
ES216Z2 =8 = F o222 ZHISA 475,701 0 475,701
401 Al I 2 08I 475,701 0 475,701
01 A& HI 472,300 0 472,300
Not=22 U3 A 472,300,000 » 14! 472,300
03 A& S THHI 3,401 0 3,401
NSAF2E Al =2 472,300,000& *0.72% 3,401
Olx=22 =H L& ot 2 FUISA 684,284 0 684,284
401 AIEHI 2 201 684,284 0 684,284
01 A& Bl 680,000 0 680,000
Not=22 HUIS A 680,000,000 =14l 680,000
03 Al 2 THHI 4,284 0 4,284
N3A2E AIE 28I 680,000,000& * 0.63% 4,284
ZAAHE F=H S 20 & F dta=2= FEISA 603,780 0 603,780
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S R F SN
A GIDIBHAIE S &5 Y AU
S ol=20 HHl L EELEAY NSF =X (2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 603,780 0 603,780
01 A& HI 600,000 0 600,000
NAFZEH B2 A 600,000,000 * 14! 600,000
03 Al 201 Y] 3,780 0 3,780
NZ2AL2E A& 20| 600,000,000& +0.63% 3,780
P 2149012 FH ol EL 2 A 543,402 543,402
401 Al HIL 201 543,402 543,402
01 Al &bl 540,000 540,000
1Nots=22 B2 2 A 360,000& *1,470m* 529,200
1) U3 AH 10,800,000 =14 10,800
03 A& 20 b 3,402 3,402
1AIE 2| 540,000,000& *0.63% 3,402
22462 9 =W (1722H) ARSI B2 Al 473,384 473,384
401 Al Bl 2 0HHI 473,384 473,384
01 A& HI 470,000 470,000
NAFZEH B2 A 470,000,000 * 14! 470,000
03 Al& 201 Y] 3,384 3,384
NZ2AL2E A& 20| 470,000, 000& *0.72% 3,384
2112 30 =Y (2722H) AIZEH BELXZB A 503,600 503,600
401 Al HI L 200 503,600 503,600
01 A& HI 500,000 500,000
DAL =2 A 500,000,000& * 14 500,000
03 AlE 201l 3,600 3,600
1N2A2E AlE 20| 500,000,000& x0.72% 3,600
22382 27 F=H (1722H) AIZEH B3 A 724,536 724,536
401 AIEHIL 20| 724,536 724,536
01 Al& Bl 720,000 720,000
DAFZE D B2 A 720,000,000& * 14 720,000
03 A& 20HH| 4,536 4,536
N2AL2e A& 20| 720,000,000& *0.63% 4,536
FOE203Y F=H O (272F) AFZEH B2 Al 523,276 523,276
401 Al HI L 2 0HHI 523,276 523,276
01 A& HI 520,000 520,000
DAFZE ) B2 A 520,000,000 * 14 520,000
03 A& 2 0HH| 3,276 3,276
N2AL2E A& 20| 520,000,000& *0.63% 3,276
I==2122 66 =Y AAEH E+3A 553,465 553,465
401 Al HI YL 2 0HHI 553,465 553,465

- 536 -




A A X %=
I Gl D|BtAIES &5 2 HH|
Sl BB FEl U FLMY N =X (S &2)
- _ _ RE]
SA BB (SH) - HRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 550,000 0 550,000
NAFZEH B2 A 550,000,000 1Al 550,000
03 Al 204 Y| 3,465 0 3,465
12A2E AlE 20| 550,000, 000& *0.63% 3,465
422772 F=H (122H) AI2E ) Ex=Z2 A 402,880 0 402,880
401 Al HI L 204 HI 402,880 0 402,880
01 Al&H| 400,000 0 400,000
NAFZEH B2 At 400,000,000 * 14! 400,000
03 Al 20| 2,880 0 2,880
1)2A2E Al 20| 400,000, 000& *x0.72% 2,880
2HZ72 37 F=TH ALEH ELZ2A 473,384 0 473,384
401 Al HI L 2 0HHI 473,384 0 473,384
01 Al&H| 470,000 0 470,000
NAFZEH B2 A 470,000,000 = 1Al 470,000
03 AlE 20H Y| 3,384 0 3,384
1)2A2E Al 20| 470,000,000 *0.72% 3,384
Col2112 30 F=H (1722H) AFZEH B4ZAH 362,592 0 362,592
401 AlEHIZL 2 0HY| 362,592 0 362,592
01 Al& H| 360,000 0 360,000
NAFZEH L2 At 360,000,000 » 1Al 360,000
03 Al 201 Y| 2,592 0 2,592
1)Z2AL2EH Al 204 360,000,000 *0.72% 2,592
MUl <MD 225,186 245,265 N 20,079
Mo 2l s 23t 225,186 245,265 N 20,079
HHis =554 &g 19,120 28,358 N9,238
201 gEt24Ad| 17,620 23,858 N6,238
01 AFR2 22| H| 8,000 15,650 AT ,650
1)0HE 22| H &l 50,000& *602 3,000
NHHE Y AT} 5,000& x2008 1,000
NIHLOES 22 2 AQE LU AIREE
250,000& x12& 3,000
NUSANETHHESESEHSAAE AIZ2LH Y
S s s ME 5,000& x10082 *x23| 1,000
02 2% H| 9,620 8,208 1,412
NHHZZIE ALESI] JI2e2
35,000& 20 x12& 840
NLAEANEMUHESHUSAIAEH QIHUR 2
190,000& 12& 2,280
NUASANETHHESEHSAAYE S]] 22 1,500
2)EHE S 19,0003 *3CH = 12& 684
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SA: HE XD
MR TYLOHE 2 D

EHe: o2 s 2 (2 &HH)
(o
SA BB (SH) - HRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 50,000 0 50,000
NAQE Os9 AR 10,000,000 504 & 50,000
D2LH9 ROoHHC A & 29 20,200 0 20,200
201 2Et2A Y| 19,200 0 19,200
01 AP 2t 2] H| 19,200 0 19,200
1)1 =20 XAkt dEH| 9|
1,500,000 x12& 18,000
NAINHCI A BESEP L A=Sg2E
100,000 x12& 1,200
203 € R F=&d| 1,000 0 1,000
03 AIEH =X 2 F X Y| 1,000 0 1,000
NEESH 22 SAEAH(OI2) 2t 3]
250,000 x4 3| 1,000
FEANLEE HEEH 30,340 104,170 AN T73,830
201 LBt 29,840 103,670 AN T73,830
01 AP 22| H| 29,840 103,670 N T73,830
JHHBRANSE T U 2YLY
70,000& x15Y 13| 1,050
NG SHIIAOARK) S 2HLH
70,000 x 13 x23| 1,820
NASRMR2I} HEEH 24+
290,000 x2H %235 x7 8,120
1)3ZEAESES XNES AsH AEHEZA HIE
290,000 x65= 18,850
203 SR F & 500 500 0
03 AIZH =& 25 X H| 500 500 0
N AEA M2IF 2HES 100, 000& *53] 500
OHEFOIID HFEH U H| 43,000 42,580 420
201 LBt Y| 43,000 42,580 420
01 AP 22| d| 43,000 42,580 420
NHASS CHEEABE S 28,000& 1,000+ 28,000
1)Z=EE AgAIA 2OH 30, 000& *500AlI CH 15,000
NEINEET HEANAEH RAE$ 14,500 8,000 6,500
1 AIEHIZ 20| 14,500 8,000 6,500
01 Al&H| 14,500 8,000 6,500
NXENESEHES)| SANESE2A
8,500,000 =14l 8,500
NXEINEZAHEI AH =2l
6,000,000 =14l 6,000
SHAE A AH| 1,484,511 1,439,879 44,632
Ol S AY|(CHM X 2=1t) 1,469,641 1,427,709 41,932
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AR RS PR

Hu: #F2ARY)

CHl: ol oy (RHE X 4 1) (Sl &)
A - ER(EN) - NS - B of & o4 SSa HIDZ2
A 2HH (& E X +=1t) 1,469,641 1,427,709 41,932

101 212 8| 1,469,641 1,427,709 41,932
03 RIHLZ2NE > 1,469,641 1,427,709 41,932
Not=Alg 2l 20 1,469,641
2= 4,078,380 x18E x12& 880,931
)¢ 28,890
3= 83,7502 x18H x 12 18,090
JNRE+E 40,0003 x18H x12& 8,640
3)sHA=E 20,000 x99 128 2,160
2)HE F Ot 4,078,380& 18 «0.5+23] 73,411
)N
136,000 *1/8+150%+ 16 Al 2+ 182 +82 58,752
2)RYIRLY
136,000& »200%*2& 18E 62 58,752
)RS EIH=E 136,000 18 17 41,616
2)28E S 125,719
NS RES 1,142,352,000& *4.5% 51,406
JNALEEZ 1,142,352,000& *3.43% 39,183
NFIYEEE 39,183,000& *11.52% 4,514
JNNEEER 1,142,352,000& *1.65% 18,849
JNMAME2E S 1,142,352,000% *1.03% 11,767
2)H3X=3 180,000
3EXS 90,000,000& *2&H 180,000
)= US| 8,000& 18 241 x30 8,640
2)ZSHH S A 25,0003 182 »23] 900
2)dedds 70,000 « 18 1,260
2)EIXA Heds 300,000& =2 600
2)AZZ &l 200,000& ~18H 3,600
)& E FEH 50,0003 1 50
2) & AL E I 1,300,000 x1H 1,300
2)AlZ2te| ¥ m=yl 5,220
32R= 70,0008 182 * 12 1,260
3)erE 5t 70,0003 18«13 1,260
)R & Hat 70,0008 18 * 12 1,260
3)yet=s 80,000& 18 x 13 1,440
Jl2dul (& X +=1t) 14,870 12,170 2,700
Il 234 (FA X +=1t) 14,870 12,170 2,700
201 fEt2E | 6,870 4,170 2,700
01 A2 2218l 6.870 4,170 2,700
1 AFS 22l bl 3,250
INREESE 120& *4,0000H 32 1,440
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AN A X =1t
I YY2YAY
¢ D2 (A X +=1t) (Sl & &)
= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
2Q)HIEE 30& *5,00001 x33] 450
2)2NEH AT 40,0003 54+ It 200
2)J12 MRESHI 40,0003 29 1,160
1) & AHEHI 2 X 3,620
2)= A EU 130,000 = 1CH x4 3 520
2)S A E¥ 300,000& *x1CH*123 300
2)d0IMZH ZHHAEY
300,000 x4 21 %23] 2,400
2)d0IMERIE &8 300,000& *1CH*13] 300
2)2AFE S| 100,000& 101 13l 100
203 YR =2t 4,800 4,800 0
04 EAS2IYRFLH| 4,800 4,800 0
1)30¢2! Ol ot 400,000& 123 4,800
405 XA+ F S| 3,200 3,200 0
01 HatL EZFH S 3,200 3,200 0
DENUPSE==] 3,200,000 = 1CH 3,200
NS (&R 4=1t) 654,000 609,000 45,000
TEDE DI 654,000 609,000 45,000
Met2edls 823 654,000 609,000 45,000
702 )1 SEEZS 654,000 609,000 45,000
(O RWIE=RSE= 654,000 609,000 45,000
N2 dza =2 654,000,000& 654,000
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